Problem Solving Saxon Math 7/6

1. The average number of students in two classrooms is 27. If the students are separated into three classrooms instead of two, what will be the average number of students per classroom ? 

2. What are the next three numbers in this sequence ? 1/12 , 1/6 , ¼ , … 

3. Nelson bought a pizza and ate half of it. Then his sister ate half of what was left. Then his little brother ate half of what his sister had left. What fraction of the pizza did Nelson’s little brother eat ? 

4. There are about 520 nine-inch-long noodles in a 1 pound package of spaghetti. Placed end to end, how many feet would the noodles in a package of spaghetti reach? 

5. Nathan used a one-foot length of string to form a rectangle that was twice as long as it was wide. What was the area that was enclosed by the string? 

6. Jill read an average of 45 pages per day for four days. If she read a total of 123 pages during the first three days, how many pages did she read on the fourth day? 

7. A seven-digit phone number consists of a three-digit prefix followed by four digits. How many different phone numbers are possible for a particular prefix? 

8. After three games Beth’s average bowling score was 110. The score for her fourth game was 115, and the score for her fifth game was 120. What was the average score for all five games? 

9. Samantha averaged 85 points on her first three tests. She averaged 95 on her next two tests. What was Samantha’s average score for her first five tests? 

10. Silvia was thinking of a number less than 90 that she says when counting by sixes and when counting by fives, but not when counting by fours. Of what number was she thinking? 

11. At Stevenson school, chocolate milk is an option for lunch on Friday. The ratio of white milk to chocolate milk sold on Fridays is 2 to 3. If 120 containers of chocolate milk were sold on Friday, how many containers of white milk were sold? 

12. One state used a license plate that included one letter followed by five digits. How many different license plates could be made that started with the letter A ? 

13. What are the next four numbers in this sequence ? 1/12 , 1/6 , ¼ , 1/3 ,____,____,

_____,______

14. How many degrees does the minute hand turn in one hour ? 

15. A loop of string was arranged to form a square with sides 9 inches long. If the same loop of string is arranged to form a regular hexagon, how long will each side of the hexagon be ? 

16. Laura has nickels, dimes, and quarters in her pocket. She has half as many dimes as nickels and half as many quarters as dimes. If Laura has four dimes, then how much money does she have in her pocket ?

Answers:

1. 18 

2. 1/3 , 5/12 , ½ 

3. 1/8 

4. 390 

5. 8 square inches 

6. 57 

7. 10,000 

8. 113 

9. 89 

10. 30 

11. 80 

12. 100,000 

13. 5/12 , ½ , 7/12 , 2/3 

14. 360 

15. 6 

16. $1.30

